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1. According to the passage, what is agroecology? (2mks)

According to the passage, agroecology is a process associated with success by applying ecological
principles to agricultural systems, adopting regenerative practices and integrating indigenous
knowledge.

2. State two setbacks that smallholder farmers face as they use agroecology. - (2mks)

The two setbacks that smallholder farmers face as they use agroecology include; limited government
support as well as limited acceptance of local research on the benefits of agroecological solutions.

3. Why has the author put the words “The Pearl of Africa” in quotation marks? (2mks)

The writer has used “The Pearl of Africa” to refer to Uganda as a country due to the rich presence of
abundant biodiversity, color, profusion, brilliant life and its serene beauty.

4.In not more than 40 words, summarize how industrial food system is failing both the planet and the
people on it. | (5mks)

Rough copy

Currently, almost a quarter of all global greenhouse gas emissions come Jrom the industrialized food
system

it is also a mgjor contributor to biodiversity loss, deforestation and water and air poliution.
it is also a major factor in the disappearance of local food cultures and traditions

(Word count NOT beyond 40)

Fair copy

'
4. A shift to more sustainable production is not only necessary but also urgent.

(Rewrite the sentence beginning: Not only....) . : {1mk)
Not only is a shift to more sustainable production necessary, but also urgent.

5. What has accelerated the need to change to 2 more sustainable food production system? {2mks)

The Covid-19 pandemic that wreaked havoc on global food production and supply chains as well as
the crisis in Ukraine are the two major factors thot have accelerated the need to change to a more
sustainable food production system.

6. Describe the tone of the passage, (3mks)

Critical—this Is so owing to the fact that the author is taking a deep analysis of an issue with an
impartial outlook. Problems Jfacing the industrial f&ud system and the possible solutions,
R .

L P

Explain the meaning of the following words as used in the passage. (3mks) ;

(i} eroded..... gradually fading away

(ii) viable.......eue......feasible; capable of working successfully

(iii) scalability.......... capacity to be changed in size
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. Discuss the character traits of Joseph Pammuat and Taiyo.

. “Joseph, deny before me right now that you love me

From elsewhere in the novel, how does Joseph demonstrate his love for Taiyo? (3mks)

. Give the meaning of the following words as used in the passage.

(i) Vehemently
(i) Quizzical

- POETRY.

Read the poem below and answer the questions that follow.

His sunken cheeks, his inward-looking eyes,
The sarcastic, scornful smile on his lips

The unkempt, matted grey hair,

Spoke eloguently of the life he had lived.
But | did not mourn for him.

The hammer, the saw and the plane,

These were his tools and his cintment and his perfume.
He fashioned dining tables, chairs, wardrobes,

And all the wooden loves of colonial life.

No, | did not mourn for him.

He built colonial mansions,

Huge, unwieldy, arrogant constructions,

But he squatted in a sickly mud-house,

With his children huddled stuntedly, :
Under the bed-bug bed he shared with mother.

| could not mourn for him.

| had already inherited

His premature old-age loak,

| had imbibed his frustration,

But his dream of freedom and happiness
Had become my song, my love. i
So | could not mourn for him.

No, 1did not shed my tears,

My father's dead life-still lives in me, -
He lives in my son, my father, )

| am my father and my son,

-1 will awaken-his-sleepy-holes-and yearnings, = e

-




But | will not mourn for him,
T will not mourn for me.

Who is the persona in ths poem? : (2mks)
‘/h P .'/wua Sogk e ot —

2. put I did not, could not and will not mourn for him. This serves as the clincher of every
rbz\ac Mentlon four reasons for the persona not mourning his father's death. (4mks
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3. Mentlon three aspects of stylistic devices used in the poemand explain their
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4. State one charach{ trait of the persona

s, What is the amtude fthe persona towards IS father’?
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6. My father's dead life still lives in me. Add a question tag?
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7. Paraphrase the fo[lowing lines
| had already inherited
His premature old-age look
I had imbibed his frustration
But his dream of freedom and happiness
Had become my song, my love
So, | could not mourn for him.

8. Exp[aln the meamng of the follow:ng hnes and words as used in the poem (2mks)
(i) The hard course sand-paper hands spoke eloquently of the life he had lived.
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4. ‘GRAMMAR.

1. Complete each of the following sentences with the correct form of the word in brackets.

; (3mks)
(@) The action confimed theChi|dnchinacC of his behaviour. (child)

(b) TheAtq Lutiliom a cafiege diploma was an important goal in her life.(acquire)

(c) Itis unwise to appear for an mtemew"‘-‘lEEuOE\/L‘L‘P—ljdressed ,(appropriate)



»

2. Use the correct expression of the word given to complete each of the following sentences.
Use the correct tense. (3mks)
(a) Although he has never won a medal, he has not3\vEin (give) trying.
(b) Her businesswoent dewsn (go) because of mismanagement.
(c) He S\'QQQQA clouo N (step) from his positicn to go into private practice.
3. Give two meanings explaining the difference in each of the following sentences. (2mks)
{a) Can you call me an uber, please? .
O_Adlg Lonvne to ook tlom  n Uber
(i) M‘J WM b= b cdiced as Uber

4. Fill in the blank spaces with the most appropriate pronoun. {2mks)
{(a) Rose and N (she/her) left for Nairobi.
(b) Many cooked diner for Akinyi and - (mefl)

5. Rewrite each of the following sentences as instructed. Do not change the meaning, (3mks)
(@) Even if the board does not meet, | will present my complaint. (Begin: Whether...)

Aty 08 red needt et el Lol booud
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(b) She opened the gate. Darkffs fell. (Join into one_’:{angznning: Barely....)
Poaedl e L ‘Dfiwnﬁ\ g the  qale  wWOhon doaerr
....{‘.eAl ..... “ .............................................. . % ettt e

6. Fill in the blank spaces with the correct preposition.

(a) A good judge never gropes 4:—,5\{ the conclusion.
(b) He is good im writing poems.
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